INEeKTPUYECKUU Tpummep
«Kanubp 3T-1400YB+; 3T-1500B+; 3T-1100B+»
(c 01.2019)




dNeKTpuYecKknii Tpummep

«Kanubp 3T-1400YB+

9T-1500B+; 3T-1100B+»

.
’

(c 01.2019)

Mos. HaumeHoBaHue Aptuxyn |(MNos. HaumeHoBaHue ApTukyn
1 Kopnyc B cbope (npaBas, nesasn 4acTb) Y07600 38 NoawunHmnk 609RS Y00002
2 MnacTMkoBas YyacTb Y07601 39 dnaHey, Y07686
3 BTtynka npegena Y07602 40 KpblwKa pegykTopa Y07104
4 PykoAaTKa npaBan yacTb Y07603 41 BuHT 4*%14 Y07687
5 PykosaTKa neBsas yactb Y07604 42 Brynka coenun. nmrnesas (L=50mm,¢( 12mm, 7001, HUTHLBL - TDTALBL) Y04514
6 BuHT 4*14 Y07605 43 Koub1io cronopnoe (crei.) Y04515
7 Mavika M5 Y07606 44 BnokunposKa nepeknitouatena Y07114
8 IIpoOka pe3uHOBast Y07607 45 MpyXuWHa KHONKK Y07689
9 3aXKUM PYKOATKMU Y07608 46 BuHT 4*16 Y07690
10 Mpoknagka Y07609 47 BuHT 4*147 Y07691
11 BuHT M5*18 Y07610 48 Kopnyc B cbope (npaBas, nesas 4yacTb) Y07600
12 BuHT M5*14 Y07611 49 KoHpeHcaTop Y07693
13 Brynka ©923,5%8,0 (IIOAMMITHUK CKOJIBXKEHHS ) Y05016 50 CnyckoBoOM MexaHu3M (KypoK) Y07118
14 Ban (L=625 mm, $p8 MM, 7111, IUL.-1IUL.) BEpX. - KOP. (C MPOTOY. O CTOHIOP) Y07065 51 MexaHu3m BbIKktOYaTeNs Y06403
15 Tpy6a (L=650 MM, p=26 MM) amoM. BepXHss (KOPOTKas) Y07108 52 Mukposblkatoyatens HT10055-1110 (10A) Y07110
16 BuHT M5*15 Y07676 53 JIHMA coegnHeHnn 2 Y07694
17 Xomyt (L=90 mm, puapyx=30 MM) coeAMHUTEIbHBINH ¥02119 54 Kabenb nuranus 2x1,0MM? ¢ BUJIKOM Y07695
18 BuHT M6*20 Y07677 55 Bannax xabernst pe3HHOBBII Y07696
19 Pyuka-6ont Y07678 56 BuHT 4*12 Y07697
20 Mpoknaaka Y07679 57 Mpuxnm Kabena Y07698
21 lalika M8 Y07680 58 LLlecTurpaHHbIN Kntoy Y07699
22 KpbinbyaTka Y07115 59 Uexou1 3auTHBINA Y07700
23 Btynka (13*8*4) Y06500 60 Brynka coenunurenshas numneBas (L=50mm,¢$ 12mm, 7mor. L. - oo V04514
24 @anen ABUTaTeNs 3aHAN Y07119 61 Komsmo cronopHoe (crerr.) Y04515
25 BcTaBKa WETKOAEepKaTens Y07101 62 Tpyba (L=750 mm, =26 MM) antoM.C BTYIKAMU HUXKHARA Y07109
26 LLléTka 6,5%11,5%16 npyKMHA, 2 NPOTOYKM, NATaK-ckoba 11*6 (N2208) Y07102 63 Brynka 0923,5%8,0 (HOALIMITHUK CKOJIbKCHHS ) Y05016
27 MopgwunHuk 608 RS Y00021 64 Ban (L=750mMm, p=8Mm, 71/, WANLBI-LWAWLBI) HUKHWUA-BAVHHBIN Y07111
28 BuHT 3*10 Y07681 65 3aknénka $p4*7 Y07106
29 Faiika M4 Y¥07682 66 BuHT M5*16 Y07803
30 JNInHunAa coegmnHeHna Y¥07683 67 Cko0a KperuieHust KoxKyxa Y07107
31 Akopb L=167, 7z, Pobm=43m, Y07113 68 PeaykTop B cbope (326 mm, Ban @8 mm-7 wanuos, M10) 3T-(SF)(*) Y04510
32 NoawwunHmk 6000 RS Y00070 69 Hox 61815
33 CraTop Y07112 70 l'onoBka pexymas B coope 61814
34 BuHT M4*65 Y07684 71 BuHT M5*16 Y07805
35 DaHern ABUraTens nepenaHui Y¥07120 72 Koxyx 3amuTHEI 0e3 HOoXKa Y07116
36 Ban-wectepHsa z=22, 7wn, L=66mm Y07103 73 HoxK oTceukmn necku Y07117
37 ®naHey, Y07685 74 Taiika M5 Y07806




